Proc. Indian Acad. Sci. (Math. Sci.), Vol. 106, No. 2, May 1996, pp. 127–132. © Printed in India

## On the zeros of polynomials

### ABDUL AZIZ and B A ZARGAR

PG Department of Mathematics, University of Kashmir, Hazratbal, Srinagar 190 006, India

MS received 25 July 1995

**Abstract.** In this paper we extend a classical result due to Cauchy and its improvement due to Datt and Govil to a class of lacunary type polynomials.

Keywords. Moduli of zeros; ring shaped region; lacunary type polynomials.

### 1. Introduction and statement of results

A classical result due to Cauchy [1] concerning the bounds for the moduli of the zeros of a polynomial P(z) can be stated as

**Theorem A.** If

$$P(z) = z^{n} + a_{n-1} z^{n-1} + \dots + a_{1} z + a_{0},$$

is a polynomial of degree n and

$$M = \max|a_j|, \quad j = 0, 1, 2, \dots, n-1,$$

then all the zeros of P(z) lie in a circle

$$|z| \leqslant 1 + M. \tag{1}$$

In the literature [3-6], there exists some improvements and generalizations of Cauchy's theorem. Recently Datt and Govil [2] have obtained the following improvement to Theorem A.

#### **Theorem B.** If

$$P(z) = z^{n} + a_{n-1}z^{n-1} + \dots + a_{1}z + a_{0},$$

is a polynomial of degree n and

$$4 = \max|a_{i}|, \quad j = 0, 1, 2, \dots, n-1,$$

then all the zeros of P(z) lie in a ring shaped region

$$\frac{|a_0|}{2(1+A)^{n-1}(1+An)} \le |z| \le 1 + \lambda_0 A \tag{2}$$

where  $\lambda_0$  is the unique root of the equation

$$x = 1 - \frac{1}{(1 + Ax)^n}$$

in the interval (0, 1). The upper bound in (2) is best possible and is attained for the

polynomial

$$P(z) = z^{n} - A(z^{n-1} + z^{n-2} + \dots + z + 1).$$

The purpose of this paper is to extend the above results for a class of lacunary type polynomials. We start by proving the generalization of Theorem A.

Theorem 1. If

$$P(z) = a_n z^n + a_p z^p + \dots + a_1 z + a_0, \quad 0 \le p \le n - 1$$

is a polynomial of degree n and

$$M = \max \left| \frac{a_j}{a_n} \right|, \quad j = 0, 1, \dots, p,$$

then all the zeros of P(z) lie in |z| < K, where K is a unique positive root of the trinomial equation

$$x^{n-p} - x^{n-p-1} - M = 0. (3)$$

For p = n - 1, this reduces to Theorem A.

The following corollary is obtained by taking p = n - 2 in Theorem 1.

**COROLLARY 1** 

If

$$P(z) = a_n z^n + a_{n-2} z^{n-2} + \dots + a_1 z + a_0,$$

is a polynomial of degree n and

$$M = \max \left| \frac{a_j}{a_n} \right|, \quad j = 0, 1, \dots, n-1,$$

then all the zeros of P(z) lie in the circle

$$|z| < \frac{1+\sqrt{(1+4M)}}{2}.$$

From Corollary 1, we can easily deduce Corollary 2.

# **COROLLARY 2**

If

$$P(z) = a_n z^n + a_{n-2} z^{n-2} + \dots + a_1 z + a_0,$$

is a polynomial of degree n, such that

$$|a_{i}| \leq |a_{n}|, \quad j = 0, 1, 2, \dots, n-2,$$

then all the zeros of P(z) lie in

$$|z| \leq \frac{1+\sqrt{5}}{2}.$$

Next we present the following generalization of Theorem B.

Theorem 2. If

$$P(z) = z^{n} + a_{p}z^{p} + \dots + a_{1}z + z_{0}, \quad 0 \le p \le n - 1$$

is a polynomial of degree n and

$$A = \max |a_{i}|, \quad j = 0, 1, \dots, p$$

then P(z) has all its zeros in the ring shaped region

$$\frac{|a_0|}{2(1+A)^{n-1}\{1+(p+1)A\}} \le |z| \le 1+\alpha_0 A \tag{4}$$

where  $\alpha_0$  is the unique root of the equation

$$x = 1 - \frac{1}{(1 + Ax)^{p+1}}$$

in the interval (0, 1).

The upper bound  $1 + \alpha_0 A$  in (4) is best possible and is attained for the polynomial

$$P(z) = z^{n} - A(z^{p} + z^{p-1} + \dots + z + 1).$$

# 2. Lemma

For the proof of Theorem 2, we need the following lemma.

Lemma. Let

$$f(x) = x - \left[\frac{1}{(1+Ax)^{n-p-1}} - \frac{1}{(1+Ax)^n}\right]$$

where n is a positive integer and A > 0. If (p + 1)A > 1, then f(x) has a unique root in the interval (0, 1).

Proof of the Lemma. Consider

$$(1+Ax)^{n} f(x) = (1+Ax)^{n} x - (1+Ax)^{p+1} + 1, \text{ where } p \leq n-1$$

$$= \binom{n}{0} x + \binom{n}{1} Ax^{2} + \binom{n}{2} A^{2} x^{3} + \dots + \binom{n}{n} A^{n} x^{n+1}$$

$$- \left\{ \binom{p+1}{1} Ax + \binom{p+1}{2} A^{2} x^{2} + \dots + \binom{p+1}{p} A^{p} x^{p} + (Ax)^{p+1} \right\}$$

$$= (1-(p+1)A)x + \sum_{k=2}^{p+1} \frac{(p+1)! A^{k-1} x^{k}}{k! (p-k+2)!}$$

$$\times \left\{ k \binom{n(n-1) \cdots (n-k+2)}{(p+1)p \cdots (p-k+3)} + A \right\} - (p+2)A \right\}$$

$$+ \sum_{k=p+2}^{n+1} \binom{n}{k-1} A^{k-1} x^{k}$$

Abdul Aziz and B A Zargar

$$= (1 - (p+1)A)x + \sum_{k=2}^{p+1} \frac{(p+1)!A^{k-1}x^k}{k!(p-k+2)!} \{k(A+l_k) - (p+2)A\}$$

$$+\sum_{k=p+2}^{n+1} \binom{n}{k-1} A^{k-1} x^{k},$$
 (5)

where  $l_k = \frac{n(n-1)\cdots(n-k+2)}{(p+1)p\cdots(p-k+3)} \ge 1$  for all k = 2, 3, ..., p+1, as  $p \le n-1$ . Since 1 - (p+1)A < 0, the coefficients of  $x^{p+2}, ..., x^{n+1}$  are positive and  $k(A + l_k) - (p+2)A$ 

1 - (p+1)A < 0, the coefficients of  $x^{p+2}, \ldots, x^{n+1}$  are positive and  $k(A + l_k) - (p+2)A$ are monotonically increasing for  $k = 2, 3, \ldots, p+1$ , it follows from Descartes rule of signs that  $(1 + Ax)^n f(x) = 0$  has exactly one positive root. Since

$$f(x) = x - \left[\frac{1}{(1+Ax)^{n-p-1}} - \frac{1}{(1+Ax)^n}\right]$$

then

$$f'(x) = 1 - \left[\frac{(1+p-n)A}{(1+Ax)^{n-p}} + \frac{nA}{(1+Ax)^{n+1}}\right].$$
(6)

If (p + 1)A > 1, then it is clear from (6) that f'(0) < 0. Thus there exists a  $\delta > 0$  such that f'(x) < 0 in  $(0, \delta)$ . Also f(1) > 0, hence f(x) = 0 has one and only one positive root in (0, 1) and the lemma follows.

### 3. Proof of the theorems

J

Proof of Theorem 1. We have

$$P(z) = a_n z^n + a_p z^p + \dots + a_1 z + a_0, \quad 0 \le p \le n - 1,$$

so that for |z| > 1,

$$|P(z)| \ge |a_n||z|^n \left\{ 1 - \left( \frac{|a_p|}{|a_n|} \frac{1}{|z|^{n-p}} + \dots + \frac{|a_1|}{|a_n|} \frac{1}{|z|^{n-1}} + \frac{|a_j|}{|a_n|} \frac{1}{|z|^n} \right) \right\}.$$

Since  $|(a_j/a_n)| \leq M \forall j = 0, 1, 2, ..., n-1$ , it follows that

$$\begin{split} |P(z)| &\ge |a_n| |z|^n \left\{ 1 - \frac{M}{|z|^{n-p}} \left( 1 + \frac{1}{|z|} + \frac{1}{|z|^2} + \dots + \frac{1}{|z|^p} \right) \right\} \\ &> |a_n| |z|^n \left\{ 1 - \frac{M}{|z|^{n-p}} \left( 1 + \frac{1}{|z|} + \dots \right) \right\} \\ &= |a_n| |z|^n \left\{ 1 - \frac{M}{|z|^{n-p-1}} \cdot \frac{1}{(|z|-1)} \right\} \\ &\ge 0, \end{split}$$

if

$$|z|^{n-p} - |z|^{n-p-1} - M \ge 0.$$

This implies

$$|P(z)| > 0 \quad \text{if } |z| \ge K,$$

where K is the (unique) positive root of the trinomial equation defined by (3) in  $(1, \infty)$ .

130

Hence all the zeros of P(z) whose modulus is greater than 1 lie in |z| < K. Since all those zeros whose modulus is less or equal to 1 already lie in |z| < K, the desired result follows.

**Proof** of Theorem 2. We shall first prove that P(z) has all its zeros in  $|z| \le 1 + \alpha_0 A$ , and for this it is sufficient to consider the case when (p+1)A > 1 (for if  $(p+1)A \le 1$ , then on |z| = R > 1,  $|P(z)| \ge R^n - (p+1)A|z|^p \ge R^n - R^p > 0$ ).

 $A = \max|a_j|, \quad j = 0, 1, \dots, p$ 

and

then

$$P(z) = z^{n} + a_{p} z^{p} + a_{p-1} z^{p-1} + \dots + a_{0}, \quad 0 \le p \le n-1,$$

$$\begin{split} |P(z)| &\ge |z|^n \left\{ 1 - \left( \frac{|a_p|}{|z|^{n-p}} + \frac{|a_{p-1}|}{|z|^{n-p+1}} + \dots + \frac{|a_0|}{|z|^n} \right) \right\} \\ &\ge |z|^n \left\{ 1 - \frac{A}{|z|^{n-p}} \left( \frac{|z|^{p+1} - 1}{(|z| - 1)|z|^p} \right) \right\} \\ &= |z|^n - A \left( \frac{|z|^{p+1} - 1}{|z| - 1} \right). \end{split}$$

Hence for every  $\alpha > 0$ , we have on  $|z| = 1 + A\alpha$ ,

$$|P(z)| \ge (1+A\alpha)^n - \frac{(1+A\alpha)^{p+1}-1}{\alpha} > 0$$

if

$$\alpha(1+A\alpha)^n > (1+A\alpha)^{p+1}-1$$

which implies

$$\alpha > \frac{(1+A\alpha)^{p+1}}{(1+A\alpha)^n} - \frac{1}{(1+A\alpha)^n} = \frac{1}{(1+A\alpha)^{n-p-1}} - \frac{1}{(1+A\alpha)^n}.$$
(7)

Thus if  $\alpha_0$  is the unique root of the equation

$$x = \frac{1}{(1+Ax)^{n-p-1}} - \frac{1}{(1+Ax)^n}$$
, (by above lemma),

in (0, 1), then every  $\alpha > \alpha_0$  satisfies (7) and hence |P(z)| > 0 on  $|z| = 1 + A\alpha$  which implies that P(z) has all its zeros in

$$|z| \leq 1 + A\alpha_0. \tag{8}$$

Next we prove that P(z) has no zero in

$$|z| < \frac{|a_0|}{2(1+A)^{n-1}\{1+(p+1)A\}}.$$

Let us denote the polynomial g(z) by (1-z)P(z), then

$$g(z) = a_0 + \sum_{j=1}^{p} (a_j - a_{j-1})z^j + z^n - a_p z^{p+1} - z^{n+1}$$
  
=  $a_0 + h(z)$  (say)

if

$$R = 1 + A$$

then

$$\max_{|z|=R} |h(z)| \leq R^{n+1} + R^n + |a_p| R^{p+1} + \sum_{j=1}^p |a_j - a_{j-1}| R^j$$
$$\leq R^n [R+1 + A + 2Ap]$$
$$= 2R^n [R + Ap]$$
$$= 2(1+A)^n [1 + (p+1)A].$$
(9)

Hence on  $|z| \leq R$ ,

$$|g(z)| = |a_0 + h(z)| \ge |a_0| - |h(z)|$$
  

$$\ge |a_0| - \frac{|z|}{(1+A)} \max_{|z|=R>1} |h(z)| \quad \text{(by Schwarz lemma)}$$
  

$$\ge |a_0| - \frac{|z|}{(1+A)} 2(1+A)^n \{1 + (p+1)A\} \quad \text{(by (9))}$$
  

$$> 0,$$

if

$$|z| < \frac{|a_0|}{2(1+A)^{n-1}[1+(p+1)A]}$$

Hence all the zeros of P(z) lie in

$$|z| \ge \frac{|a_0|}{2(1+A)^{n-1}[1+(p+1)A]}.$$
(10)

Combining (8) and (10), we get all the zeros of P(z) to be in the ring shaped region

$$\frac{|a_0|}{2(1+A)^{n-1}[1+(p+1)A]} \le |z| \le 1 + A\alpha_0$$

This completes the proof of Theorem 2.

#### References

- [1] Cauchy A L, Exercises de mathematiques, IV Annee de Bure Fréses, 1829
- [2] Datt B and Govil N K, On the location of the zeros of a polynomial, J. Approx. Theory 24 (1978) 78-82
- [3] Dentsch E, Bounds for the zeros of polynomials, Amer. Math. Mon. 88 (1981) 205-206
- [4] Joyal A, Labelle G and Rahman Q I, On the location of the zeros of polynomials, Bull. Can. Math. 10 (1967) 53-63
- [5] Marden M, Geometry of Polynomials, Amer. Math. Soc. Math. Surveys No. 3; Amer. Math. Soc. Providence R.I. (1966)
- [6] Rubinstein Z, Analytic method in the study of zeros of polynomials, Pac. J. Math. 13 (1963) 237-249